X2 = 2x+3 =0 A 23 A9 BA o o]
a+B=2 a8=3

(a? - 20) (6 - 2B)

= a?B? - 2a°B - 20* + 4af

= (aB)? - 2aB(a + B) + 4ap
=9-6-2+12=9




24 ax? +bx+c=0° gt Ao 2 o3 <H7|> F &2
A

A MG=? (Ha, b, ¢, p, g AT, i=V-1)
B7]
@ THAL p? — dac ©|t}
© %29 ge oy
a

Q AAF BN FEAS AT 5 A @A a,b,c

© b? - 4dac °I4 ac > 0 |t}

ST b2 < dac Q1 BT TS 7P (AA)

@ WA b? - 4ac oA ac <0 °|EZ p% —dac > 0 (F)
@

®




OVFAA 2+ (a+2)x+1=00] T2

of gkl gHg Fabu?
> g

> e 4

B

1=
D=(a+2)?2-4=00]E&
a>+4a+4-4=a’>+4a=0
Dt a=0FEa= -4
wrebA] A4 a 9] 3 2 -4




xof gt o] AP A] (k2 - 1)x% = 2(k — 1)x + 1 = 0°] 3]Z& 714
o}, k > molth. m 9] k& Fstojet,

> &

> ®™eh: 1

B

(k2 -1)x2 -2k -1)x+1=00]
Sl 7t E

D

Z:(k—1)2—(k2—1)<o

(k> —2k+1)- (kK2 -1) <0
-2k+2<0,k>1

Som=1




5.
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